What can we replace M with?
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Instead of the whole input space,

we consider a finite set of input points,

and count the number of dichotomies




Dichotomies: mini-hypotheses

A hypothesis h: X — {—1,+1}

A dichotomy h : {xi,%9, - ,xny} — {—1,+1}
Number of hypotheses |H| can be infinite
Number of dichotomies |H(x1,Xs, -+ - ,Xxx)| is at most 2%

Candidate for replacing M
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The growth function

The growth function counts the most dichotomies on any N points

my(N)= max |H(xq, - ,Xy)]
Xl,-H,XNE/Y

The growth function satisfies:

mH(N) < oV

Let's apply the definition.
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Applying my(N) definition - perceptrons
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